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Prolog:

· declarative language

· some tutorials online:

http://kti.ms.mff.cuni.cz/~bartak/prolog/
http://www.csupomona.edu/~jrfisher/www/prolog_tutorial/intro.html
· we’re using SICStus Prolog
http://www.sics.se/isl/sicstuswww/site/index.html
Prolog program:

· Prolog stores all facts and rules in a database

· type your program up using a text editor

consult('name_of_the_file_with_the_program').

· look at the Prolog database
listing.

Variables:

· begin with an uppercase

X

Head

Person

Atoms:

· can be any combination of symbols, but must begin with lowercase 

· use quotes if atom names needs to contain a space or start with uppercase
carl

‘The Supermarket’

‘blue sky’

Predicates:


frog(carl)


grandparent(sally, kim)

Facts:

· predicate with a “dot” at the end
frog(carl).
fun(‘cs367’).
woman(mary).

parent(mary,paul).
Rules:
Head :- Body

· body consists of predicates
· “,” comma is conjunction (and)
· “;” semicolon is disjunction (or)

    cat(A) :- tail(A),animal(A). 

    mother(M,C) :- woman(M),parent(M,C).
    wet(P) :- raining_on(P) ; swimming(P).
· this reads:

woman(M) ( parent(M,C) ( mother(M,C)
“if M is a woman and M is the parent of C then M is the mother of C”

· sometimes we don’t really care what value some rule variables take
is_mother(M) :- mother(M,C).
· …do we care what value is assigned to “C”?  If not, then use an
anonymous variable “_” (underscore)
is_mother(M) :- mother(M,_).
Asking a question:
· this runs our Prolog program
· after loading up Prolog with your program (consult command) you assert a fact

mother(X,paul).

· …this reads “who is the mother of paul?” - Prolog tries to satisfy your assertion by assigning values to the variable “X”
· this is the first value it found:

X=mary ?

· now you can either

· press the “Enter” key to finish your question

· type “;” and press “Enter” – this asks Prolog to look for more values that satisfy your question

Recursion:

· rules can contain themselves in their definitions

descendent(D,A):-parent(A,D).
descendent(D,A):-parent(P,D),descendent(P,A).
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· first clause stops the recursion
· the second clause makes recursive call to find indirect descendents
?- descendent(paul,mary).
yes

?- descendent(paul,kate).

yes

?- descendent(paul,X).

X=mary ? ;

X=kate ? ;

no

?- descendent(X,kate).

X=mary  ? ;
X=paul ? ;

no

?- descendent(X,Y).
X=paul,
Y=mary ? ;

X=mary,

Y=kate ? ;

X=paul,

Y=kaye ? ;
no
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